38

Brad works in a forest preserve.
One of his responsibilities is to
provide visitors with maps of the
camping area. The diagram shows
his map of the camping area
depicted on a grid.
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Brad decides it would greatly
benefit the visitors if the map were
a little larger. If he enlarges the
map of the camping area using the
same layout guides shown in the
diagram, which ordered pair would
best represent a point on the.
perimeter of the camping area on
the enlarged map? ' !

A (0,9)
B (1,2
c (1,10
D (11, 1)

3

A line segment has its endpoints at
(5, 4) and (-4, —5) on a coordinate
grid.
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If the line segment is translated

7 units to the left and 4 units
down, what will be the coordinates
of the new endpoints?

(-2, 0} and (3, - 1)
(2, 4) and (-7, -5)

(-2, 0) and (-11, -9)

{3, -1)and {12, 8)
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